Proof of Main Lemma., Sec 1.3 of Lectt
Becoll Hhat ﬂc Lemmo. is fullows:
Mein lomme.: Su/y/oogc )(,7 wre (redacibls 4 Mlo»ﬂ- [’ é{e Y be
st [’ Lol 4ly) are cbosedl Moreover Suppose:
L ¢ is el at 4, and
) z f =% (ol

Thy 70{3/7 a//na [}’//f) c C cwzza/anmé, ﬁ;(J ) st Ao

Kzsfnaf/on ﬂl’ "(He)) — X i exellent, ie.
Q: (E)—= XIC s Aol
/é) Y—e(Y//() X//[J(w[ec 29 ((HE)).

/I/ﬂfwf/an For a /}mze /06 a//}h{; scheme Z £ a 0/05@0/50{
Stheme Z, we consider the wm/o{d‘/on (E[%] L= lm f[z?]/
W/e}’e (s fA D/MZL)?M zpé o/ Z /@/émwz‘ Z’o—/)w;ﬁ/fmm
WML clyl” f[yw Cla"™ Cry1™ )™ e
mse th notation and write x instead of 70)), CLYYETH

1'007[ s m 3 5@5

) /?M thht 7 Cix7" acm *

2) Poe Ut 9% CLHEY™ = (A )T and 2y some fir

7 Ths fo;yf/zr Ww. 7) Mrﬁﬁfs Q i ttals ot 9“6/)

3) Fimsh ‘fZL /0)'007[
7_[



1) Sty % L[ = cffyf‘i

Wite Hhot fZL compesit ion C[x] Lf[y]—»@[y]/\c?’
ectends £y CLXI"* — €Ly 4 ¢*(I,,)c ICJ, -
?*[I(:) CI; ¥ k0. Dente 4Le &ffm/m/\ﬂfm 501 x

We nite fﬁuﬁ f[t a,ljagms C[X ]A(ix Clv] * come w. o/e.vceno/mj;

Fttvations [as inverse 5%7,‘5} 4 ?”‘ s 2 %&’e/eo/ a/ﬁ(,{/{ 40Mom0//’7/1ym_
The fithretions we complte { separated so Lo shw ¢* is 150

s Mouj[ to Show tht 9" (f* ¥ C[X]Acxi’a rf[Y]AcZr
Wit thet g CIX1"= DI, [Ty = CLAE] (e omel
AUMM)\ Sinee G s K—e?uiua/icwi’j elute ot 4, its otk
at every /oinf of 5{;4 And s it restnts 4 (0{ = (%, it
j/Ves rise fo an /SOMWWAIY}M /Vy[@) —f—hﬂg/fx) 7Zc cm’es/mna/ms,

/WM;QCK Aomomwl'pénm s /Mféng tlse but 4 (70* 747/54»10{ £le
[Jl’ao .

2) St 2: 9% CH"™ = (Cx1")
We wll prove @ ore Jme/d cLoim:

Jemma: Lok A be a ﬁn)‘fa@ jeﬂe/a;&a/ commutative 44»//5/0_
fqui/)pw( W/’# R /a]émﬂa/[ /{//’C.S‘wfﬁflan 0/ R /edézﬂ,[ll/c j/ow/o
[ by algebra autommphsms. [t 1A be o (- stells ideed.

2]



Sk A: <A T:-1° The
Om /I/I ~=>(lm A1)
Boof:

Nite thed T (I") so we indeed have a 40)140”70//‘]//5}1/1
bm A/T" ——>( Cim /f/I") To show Yot His is an Isomophism
we ned To Show ot ¢ Athrations _I_ , (1" o A are compo-
4bte whih, /’wéAccs o

(x) #1720 3 m7o| (IM)CC I’

This is done éf s e wnal tnae with bow Yo alsebres.
Set Bg (4): @I 7_47;1 s 2t mz[r/% jMf/mZeo/ adsebre w
Vetjonad A%/M o/ (, So gf ()" - @(I" /s /mz%} pene
reted Choose 2 fnite Co/Z/(Vf(oM o éomoatgeﬁwus jwe/qifm L4
a/ f/c /j ajgygm gf (/U of &/Jrecs o/ 0/70 /,? A construc-
Llon (_.h) CSQ/) (/ 7{%,24‘0{ ﬂ)c[/élq T; set o=
max () ] Tr”/‘“ Ths preves (%). 0

To aopty His to our situction, obsene Gt o moximed
/o/ezal of ﬂ?’&) n CIYlcd s I(’i (exerase). So we hawe
/SDM()V/M)S”?S

CLilcl” =) =>(cly)"%)" <= clyc)™
TL /’eﬂuﬂf/ng /)‘om/;p//sm f[)(// ;] ", CLyc ]A} /s ﬂo’L%n} but _’q’."

3|



Hore @ s chols ot o7, 1)

3) FWSAM} 7%; }’oo/
34) First of w the bouss in WC, whore i NG — X[

i thate, is apen [his is 2 toas when Yo sheed of rebatie
/(o%&(/ 06/7[%}’0421/41,55 is /écw% /rce, o/ V74 7) So we cen /n

feCLyT° st Fe+#0 L is ek on (W) We con Lhon
//90&6@ 7w Zp (50 thet y//[ ﬁ(y//() )MD/ asmmgg is

Aol
Sd >/ }7/ /a X >/ [s Maﬂ% {/C X I5 SMOaZ{/ [4/}1:;«;6

Femains To oo is To /no/ /65[7] Cl1° s+ // )#0 &
/V —9>/ We W/{Eg Jor f[almogeO/i/n}’Soféaf @—%@

32) F;rsf we /Aum z%z;f = fC (C[V:( st. >7§ s F/Z[w&,
L)#0. Led 2 bo bl locss, where /— ' /wzs b be el

Ttes cfoseoz A % ﬂla/g; T doesnt contai dc{ Sinee £y is
Ho only, bosedd  (-orbit in @, (7, (ay)),-éla chosed (- stabb

suévmm‘} Z(1 7, (r {7)) must be mﬂé] Sp Yo closed
Suévmmf} (7[27 7//67 doesn't contain 9, Q) Fer £, z/wf/fém}
on I, (Z) bt nit at 97’J ,Q/Jé.omé 7w 7 we achieve
LotV — Y i e

4]



33) We clainm ot con nd 755 6[7:(6 st >7é — Xg; is Inite.
Since ¥ =" is etal, s 7aq§é~;6nz'{e (=all fibers are finite)
Nite ot {3— e Zorisi main thm for guasi- fonite mopphisms,
Ve (an ﬁdorztc Y=Y as Yes ;J; 7: where Y<5 Y s on
open cméea(/m} X >—’ s s ﬁlmf{_ Nide 1het C[7] is p/c//neo(
45 the integred closure of CLY] o CLY. I parbecter, it
is [— Sfcu%e S f[y/]d‘_;*@[y_jc‘j, C[V], e 4&4/»:
CLy1" < CL7) s CrY15 Sme €LY €Ly 4his
implies CL7I - CLyI"

Dbsewe that [;1 is chosed in Y TIndeed 50[5—) i 4
closwre of () =Ly bt G is closed R follows thet ¥
orbit in @_ ots o KGL,’ but fov dmension reasons, oty @ con,

ow we argue a5 in 32) T shw thet 95 (I\7) is a chosedl
sué»/qmyfg_ (n )7//( = Y0 ot doesnt  contair 97;97 So
we Can Fnd 755 CLAIC W 7@ I/WHSAM;, on I, (7\7) bt nit at
F ). Then % =23 is chale and finte

24) We now prose Bt =Y (ho resd 4o cut firther).
Lot o denite Ho 0/25}’& of Zhs /Mo70/1ym. W need 4 prove
thet o=1 Lot Y=Yy Yy b Y /}’e{'mges of y’e v /fl’jum}
28 (n 3.3), we See fAMf [j; we closed. Bit tew 97;,{},,-)#7;,9’).

5]



S;ﬂce, el/ard», %/eV of {A 7(402%«1‘ Mo»/’v/lﬂn 97; contains a am’ym
&{68'60/ OVA)%/WC Se ﬂoj @i -‘[g, ‘b{i- /4119/ Since gl > GL//) we

7’7'72/@@ jvf d=1



